26

O M

»’b 3

2015 =%

hESHKE 42479  TEERIRGE: A

LitE.(2° -1 +5°-0) ' x5 WM K

( ).
(A) -125 (B) ~120 (C)25
24 1
(D)? (E)g

25 Y, 3A 84 5. WA T Y IETT B Bebk
A0 B
(A)3 (B)S (C)7 (D)9 (E)11
3.0 1, LA 18 AR5F o

B

BPr=EARRE MR,

PR 1t iR 5 ( Eis |

T
(A)9
(D)22 (E)24

(B)18 (C)20 Al 1

3 3 (THEYH)

NXEHS: 1005 -6416(2015)07 - 0026 - 07

4. OFHY RIFLHKLE - KES L
e —ER B3P NERBCAERIER
WESREH 3 A5, RIETW B R EO Kb R
B2 BFRERBCHBERTER
FEEFUKIE —&B 43, XA = A B8 SR B0
F NEHT A RFEHERBEECKE
SewE R ( )-

1 1 1 1 1
(A)—l—?: (B)g (C)Z (D)g‘ (E)‘z‘

5. AR 15 BEARNRFE
Ui, — YR 56 S At R B, Fe iV sl G, B
K NEFEEI RS HR 80 43, i b fil 5 A4 BR &t
&, EYERSE S RSN 81 4y NMIZEX R K
Hh (iR Y LSRR ( ) G

(A)81 (B)85 (C)91 (D)M (E)95
FEF, a,,a,,a;,"" ,dg,0q,
LDIIC=9O°+;—LDAC=LDIZC. Ay,03,0y,°" 589,819,
SR NN €3] A
W/ DLE =/ DCI,,/ CLF =/ CDI,. Ga5055055™ "G5 Gz 5
as,aﬁ,a7,--~,a12,a,3.

W GEF = / EDI, + / DI,E
=/ ADI, - /. ADB + / DClI,

:%(4ADC+LBCD) - / ADB,

/ GFE = / FCIL, + / FI,C
=/ BCI, - / BCA + / CDI,

=%(LADC+LBCD) - / ADB.

M,/ GEF = / GFE 18 GE = GF.
X GI, ¥4/ AGB, i GI, | EF.
14, F—JLF 13 A4, AT HEF I

B E, P ST MO IE, T,
FH A ANIE; B —IrH, BRI
Bz MR, A, BERH A Bz Mo .
FiE. X R, W RER R ZLH 12 T

F IR B — BT

-4, -4, -415.-4,-4,.-4_.-4.15,
-4.-4.-4,

i R B R R K B 12 T, SO T R AR
HESRIY n BIBCR(EDY 12.
(RFm R4



2015 4E55 7 31

27

6. CHIBAIERHFEZR S 15 WL
REEB/MIZHANC ).

(D2 B (©F 2 ®F

7. & £%%13,16,19,---,70,73 v It
£ ( ) T

(A)20 (B)21 (C)24 (D)60 (E)6l1

8. TI4ERT, KPR M R P 3R
SEUR I 3 A% TOAERT , R4 AR IS S S 3R 4R
HBE 4 45 ( ), R ML R 4R
Bk 2: 1.

(A)2 (B)4 (C)5 (D)6 (E)8

9. EAW A B RIRAE I, 8 A E
AR HE—-ITREEREE 10% . TSR
ERRHI A ( )-

(A) B A B HE—ABEAAK 10%

(B) B — B L A EAE 10%

(C)EABIA L E—BHAK 21%

(D) E B AR 21%

(E)E-AREMEEE— TR

80%

10. X} F 8- HEF abed, A ( E N
R R EHE, 5 KR HEF) PSS F
EHHE AREAHAR (40 ab.ba EEH R AR
).

(A)0O (B)t (C)2 (D)3 (E)4

1. BEAEENK SR Z N 4:3, 5% A
KWK N d EHH kd® FRERER, U &
HIE R ( )-

W2 B ©F O ®
12. 241 A(Vr,a) (B (Jr,b) K il &

Y +xt =227y + 1 B ARIE. W la - b1
= )-

(M1 (B

(D) V1 +x (E)1 +yx
13. TEIF A 5 701 10 43 A9RE T AL 12

(C)2

B, P SR T AP B — 3B B 2 B R T 4
AT RLE AR 17 RN R B T AE. W 5E 57 1 A
(10 ravtEm.

(A)3 (B)4 (C)5 (D)6 (E)7

14. 3hR B BA$ 429 20 JHX, E55H
—A4208 10 EORE/NESAE 12 JfES
U, /NE & B — I EETRE, FRe 16
BAg I B S/ R AR I £ 05 iy kR
oS, BRI A RA Y, HE/NAE B
HiTest B — KB ERE M Iy B AR, o, P
R &AM B U1 S AL T KRR B ( ) A,
hiE.

(A)2 (B)3 (C)4 (D)6 (E)8

1&%@%&%@«%%4@?%&%

BOHRKNES. FFaaE8358m 1, 0
SAERE AN 10% . ARA , & P X FER 4
A ( YA~
(A)0 (B)1
(E) X%
16. F y+4=(x-2)>,x+4=(y-2)?,
Hox#y, W «* +y* BIME R ( ).
(A)10 (B)15 (C)20 (D)25 (E)30
17. — % &3 RREEAHER, 5 HEL

v=1y =1+ B0 = . W

NMERZHMEHEAKIC ).
(A)2/6 (B)2+243

(D)3 +2y3 (E)6 +ﬁ’

3

18. S A+ N EORH 0 ~ 9+ 8RS
MAZEF AT FEEERE, P ,A B, F
5% 10,11, ---,15. 725 1 000 4~ EHE %K
o R TR R REE R TSRS R
H XSS ENE n, IGEE , n B9 45 67 $50RS 22 A
H( )-

(A)17 (B)18 (C)19 (D)20 (E)21

19. 74 HE Rt A\ ABC b, B2 41 BC = AC,

(C)2 (D)3

(C)6



28

A g

ZC=90°, mMHN12.5, ACB K =74k
SHFSR AB T8 D.E. WA CDE 0978
BouC ).

W2 (0BT

@B (ny0=BS8

20. —MEE KM TS A IERE, HR
FAFFTEXR, AR PJEX WTHEAT
REN A + P MU ( )-

(A)100  (B)102

(D)106  (E)108

21. ZEVUTE & ABCD ", BV AB =5, AC

(B2

(C)104

=3,BC=4,BD ='4,AD=3,CD=135@— . g
& ABCD HIEFR K ( ).

(A)3V2 (B)245 (C)343
24 24.2
(D)? (E)“S—

22. NN 7E— KIS 55, B A HRTHK
EF—BeT2MEIRET, A AR #% 8
O BB . 568 T B S4B, WX A ki
F; A BB T, WX Ak .
A2, B A SB B BN B R 5RO
¢ ).

47 3 49
(Ayee  (B)E  (C)ier
(D) (B)aa

23, R f(x) =2° —ax +2a B EH
R, M REL o WIETA AT BBIELZ A ( )-

(A)7 (B)8 (C)16 (D)17 (E)18

24. B HIMNATE ABCD £ K ¥R IER
B BAKNp, LBELCHHHSA,AB=2,
CD =AD. % p <2 015, WIEEEH p A ( )
NGl EIN: =R

(A)30 (B)31 (C)61 (D)62 (E)63

5. URHKRIIBERE,EUD

31 AR, X A BB RN T

ngila _cb Tc(a\b\c €Z,,(a,b,c)=1).Ma

+b+c BYMEM( ).
(A)59 (B)60 (C)61 (D)62 (E)63

I S 3
1.E. |

(2°-1+5%-0) "' x5 LxS:%.

~25

2.D.

BREFHE a R=ABE®%,b RIET
BE&ER%.

=t

a+b=25,

{3(1 +45 =84

3.D.

mE 2, EER, B
ERERTE 4 WAL Bt
WEMSTE 10 3%,
Hm 6 4R Y =BT
B 18 MRF &, 8 R [
T, e - BB E
ZHF. T, BBt S Bk
Bh, B 10 +12 =22 T4,

4. B.

BRIERIVER B m. T2, RIELHNE
RBCH 2m , BT W RECH 6m.

EOANRERE L, WEANEE

m+2m+6m
S'Eﬁ——:;— =3m.

Hit, BB EAHRIET m RBER, 5
KYE 2m Bl R

M, BT RRIFEVHERBLEECS

m 1
kMR = o

5.E. :
15 x81 - 14 x80 =1 215 =1 120 =95.

= (a,b) =(16,9).

=TT
R

-

i
i
e s et
i
i
| SRRIPUI EPUpUI [N DI

A2



2015 SEE 7

29

6. B.
BOX PN IERN ab(a>b).

MEREEa+b=5(a-b) = L=
7.B.

N\w

HER, ZEFZHFINES R 13, %
%3, KT 73. ﬁﬁgrﬁﬁp@” —13 1 =21
8. B.

WRERTE A IR N 3x, TSR RIAF
W 2y 5, RIS RERNERZILH
2:1.

T ey R R
3x -2 _
x-2 x=6,
=
3x+2+y 2 {y=4.
x+2+y 1
FrREL 4 4G A S TR Rl Z L
HR2:1.
9.D.
BE—EEEER B A EEE
7R r,. W EER
n_11
rp 10°
Xrrh, =V, =V, =xrh,
hy 121
h, r 100
= h, =1.21h,.

WA — AN A LA AR 21% .

10. C.

Xt HES abed AR EHE, & a B H
£, M5B AL HEBH ¢ B d, APHRHM c. Ik
BB ZARA TR EAR, B b, W cb
FESR B d, ) od #HSE, FJE. TR, HALAEE
B a.

ol , BARERK d.

HbIEEN, NE M RABK A, E=M
T a, RN ¢, Bl bdac.

25Dl b, cadb WAFS.

WIEA I R BN EHE

11. C.

WHEIERK R 4x, A 3x. W d =5x.
FRE 2= 4 )

C3redy = 1242 = 12 2 _12
S =3x-4x =12x —25d = k= 25 -

12. C.

RN » =/ RA TS

¥ (Jr)* =2(4r) %y +1

= (y-n)l=1>y=nxl.

Wla-bl =1(x+1) - (n-1) 1 =

13.C.

WE WA « B S A, 12 -« B
105}%@?5 )

5x +10(12 -x) =120 -5x =5(24 -x).

TR R LG R 17 #R
[F e TH1E, EHitk,

24 —x =17 = x=T7.

M, R R 12 -7 =5.

14. C.

e 3.

B3
BEKEZ OB N 6. WFE/NE
BB F AN 360° - 6.
#2090 =10(360° - 9) = 9 =120°.
AT, BB M TR B8 4 RALE.

— = xy +11x - 10y =0



30

POE M F

= (x-10)(y+11) = ~110.
B x.y A IEBEEH

x-10> -10,y +11 >11.
W(x-10,y +11)
=(-1,110),(-2,55),(-5,22)

= (x,y) =(9,99)8%(8,44) 85 (5,11).
EER sy HER

FRUA, (x,y) = (5,11).

16. B.

BB« —dx=y,y’ -4y =x.
WA 2* +5” =5(x +y) ,
WA «° -y =3(x - 7).
Hay,fMx+y=3.

W a® +y* =5(x+y) =15.
17.D.

qniE 4. y

FEH FHh=/AKF
>

B — 2k 2 5 A bR B B,
ARHAEEHL x=1 R
i 4

y=1 +J§§x bW =5

LN y = Yo
ey STy
B2
R ESATBAE N 1+ 20 A
3+2.3.
18.E.

FEP, ERR 1000 8+ RBHN
(3E8) . EHRAIFCH/NF 1 000 B R
B 7SHEERIE (abe) 6, W @ FTLIELO. 1,
2350 ATLAEL O ~9;c AT IR O ~9, 2 F
400 4%, {H 0 = (000) ,(JEIERH, & E.

F£,n=399.

ML R A3 +9 +9 =21,

19.D.
H &5 AB = AC =5.
mE 5,55 DVEDF | ACFHF.

&S
%~ ACB =90°,CD .CE 2k /£ ACB ¥

=N FFLL, £ ACD =30°.

W AF = DF ,CF =3DF,

AC=(1+y3)DF =5,

DF = 5 =5(“/§_1) .
B3+l 2

TS jne =_2i([i.—_ll_

S jons _25 _25(3 -1) 250-25J§.

2 2 2
20. B.
B—MEENK A o, TR b, H,a.b
€Z,,a>b

WA +P=ab+2a+2b
= A+P+4=ab+2a+2b+4
=(a+2)(b+2),
BlA+P+4 8B MRBMAT KT 2 BIEREK

ZHR

{8102 +4 =106 =2 x53,# A + P 1]
fEM 102.

21.D.

wmE 6, £ MmE A

& ABCD ", B3] CD

B D
BE.

W E, Bk 45 AE,
AR A C

AE | CD, E6



2015 455 7 A

31

BE |_CD.
F&,CE | ¥ ABE.

[43(31).12—“/Z 18 CE = DE:QSQ.

Mﬁﬁ,AE:——VISS,BE=——V3528.

AB? + BE? - AE?

| =
M cos ./ ABE 2AB-BE
25 + 328 153

25 25 32 482

/328 2«/328 41
2 x5 x 5
= sin / ABE = 3/—.
41

B S pus = —;—AB-BEsin ~ ABE
S

FRrLA, IEEPF ABCD HyEFH

1 1 12,2 _24
V=38 mpsCD =3 x342 x s =5

22. A,

ANG A BB E, HA 2 =256 F
TR e,

TEAMERIHE.

(1) BB AIEE B | R

(2)— A% B Cl =8 MARRHE;

(3) BN , (A ARAHSE, & C2 -8 =20
RO R4 |

(4) U AEZ , (B0 BT AAAAE, 45 2
p NG

(5) S A%, B8R W AME, A
8C+2+1) _ 16 mormsk:,

3

(6)BAEHANLU LuEE , FARR, o
A B NE.

EEJIP=1 +8+20+2+16 47

2° 256

23.C.

BEAREf(x) =2" - ax +2a BIFHH
BRI, A EREFH A EE, Fl o A
BB, H IR f(x) =4° - ax +2a IH|F)
KA FHE

B A=da’-8a=k (k€ N). M

o’ -8a+16 =k +16

= (a-4)"-F =16

= (a-4+k)(a-4-k) =16.

Ha-4+k.a-4-kaEHEHE,

(a-4+k,a-4~k)

=(8,2),(4,4),(-4,-4),(-2, -8).

#1418 a, =0,a,=-1.

RS o WA T REEZ AR 16.

24.B.

e 7,% BC =x, A
AD=CD =vy. it 5 A !
YEAE | CD F & E.

H AB =2,

/B=,C=%°, 7 i
1 AE =BC =x. &7

£ Rt A\ ADE v, /A s 845

Y =(y-2)+x" = x=2/y-1.

Hp=x+2y+2 =2y +2/y -1 +2.

HEEM 2y +2/y -1 +2 <2015, H
y - LAV, Wik

fy) =2y +2/y =1 +2(y €[1, + = )).

T2, f(y) BB,

FER,

F(327 +1) =2 x(32* +1) +2x32 +2

=2 116 <2 015,

F(317 +1) =2 x (317 +1) +2 x31 +2

=1 988 <2 015.

Frbh,y =17 +1,27 +1,

=9,a, =8,a,

B

C

- 317 41



32

W p A 31 AR B,
25. A,
WES WEIRUL o
ST VW
AE =EB =BF H F
=FC=CG=GD
1 A E B
=DH=HA=3. s

BB R, RO — S 4
BAE |, %5% — & T £ BF . FC.CG.GD,

DHJ:BU‘,P( ST ;%) -1

Wk T AE J:Bq‘,P( |ST| ;é) =0.
UM TTE BE kB, AS =x,BT =y. |

{Osxsl

2 b
<0$y$l
2 b
1
\2 .

Nl

[\

9
1y 1
B4 P(ISTI ?E) =
YR T AH b8, AS =x,AH =y. ]

0 1

I
A

x

2

A
I

= N

y

?

ﬁO

2,2
x t+y =

1
7

Y
i 10.
Y
0 1 x
2
& 10
1 =
1y _4 16 _4-x
E;%ﬂP(|STI>2)— T4
4
ﬁj{P(lST!?%)
“m k2 oxt el
4 "8 8 8 278
_26-m
)

Mili,a +b+c=26+1+32=59.
(X2F #BiEE & 4% BF)

Zm R IE K

L. MNEERE s FRERGERE A
T 2015 458 3 B CEE AR IT 54 il
SR (173) YIS 4 HERMN K (0,0)
2 (-1,6).

2. AR H 2014 455 4
CBERAIT 5T R B /& 377 B E Rl
“3E B . 2 1 > n2"
EACENED 2(n+2x,~)
2015 4E45 4 JA% 48 AR 13,15 47+
AN R “n =2k +17.

B EEWISIE. B THRSA R
BHRHAMERITERERE.

# (1 6 B

b4
.
b




